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STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING (S.CER.T)
PUNJAB, MOHALI |

1st Mock Test — 2020
g st (Class X)

MENTALABILITY TEST

Time:2 hours  Max. Marks: 100

Instructiops o7 candidates

I. Thisexamrelates to Mental Ability Test.

o ]

123

Ezch guestion carries one mark. All questions-

afe compulsory.

You have been provided with an answer sheet
(OMR) for this question paper. Darken the
correct option of each question in the answer
sheet {OMR) with black/blue pall ben.

Rough work may be dane on the blank space
provided for this purpose. '

. Thereisnonegative marking in this test.

Do not use white fluid cn OMR Answer Sheet.

Half an hour extrashould be given to visually
impaired candidates only.

M 2 U FEWA: 100

1. feoifipragerfeed|

2. REYEST T (NTYFSAge a5 |
T 19 3e e (@ i) Reyms e st €39
ST /BB USTB I TING |

4. Forarfeftoetyste Itz AT RaeTd |

5. fon i o' frerav (3dfe=) ot
FAT

6. €. 9. . €3z Gus wetle efele &t
g FaSAE= ]

7. ¥ fefomradtnt § %0 U oot €1
fegra<ar|



Direction Questions (1-12). There is 2 number series
following a pattern one place is a left blank. Find the

3

answer among options.

1. 10000, 11000, 9900, 10890, 9801,
(1y 10241 )
(3) 10929 @)

2. 2,4 ,__ ., 1

37 21
(6 2)

11
3 5 4)
17 .

3= B VAR T i
(1y 192 (2)
3) 147 @)

4. 480,9...............8.4
Iy 24 - (2)
3 o4 (4)

5. 78,56,30, ceeeennnn
gy - 8. (2)
(3) *6 (@)

6. 2,2,513,28. coeinnin,

Ny 49 2
(3) 51 4

7. 45,54,47, ..., ,49,.56,51
(1) 48 (2)
(3) 35 4)

8. 3,20,63,144,275, ....oonvin.
(y 352 (2)
(3) 548 @

9. 05,055,065,08, ...
( 0-1 (2)
3y 2 @ .

10. 589654,89654,9654, ...........
1y 10093 2)
(3} 9456 (4)

o
\olm '_'-ﬁlm

MENTAL ABILITY/ }

10781
10991

P—
wl"“‘

163

88
30

20

50
52

52
62

662

0.91

89654
654

m{x-mma&mmmawrﬁﬁw

mwmmmaem
. 10000, 11000, 9900, 10890, 9&0},
1) 10241 @ 10781
G) 10929 @ 1091
LIRS
3 7 21 3
® 6 @ s
il 9
3 9 4 7
17 3
. 3,12,27,48,75,108, ...........
192 L@ 16
@ W @ %
. 480,96,...... . 84
1y 24 @) 88
Gy 64 @ 30
. 78,56,30,............ |
H o 5 R (2) 1
3 6 4 20
DB i
M 49 @ 50
Gy si - @) %2
. 45,54,47,............49,56,51
(1 48 2 52
G) 55 @ 6
. 3,20,63,144,275, .............
M 332 @ 468
Gy 548 @ 662
. 0-5,0-55,065,08...........
a ol @ 1
G) 2 @ 091
10. 589654,89654,9654, . __
(1) 10093 (@) 89654
(G) 9456 @ 654



11. 3,6,15,48,

ay 192 2)

(3) 194 (4)
12. 445,221,109, 25

1 41 @

3 33 | (4

193
195

46
58

Directions Questions (13-17) study the letter sense

27024

and answer the following.
13. ; . babbba,
(1)  ababb L {2)
(3)  baasb @)
i4. BMX, DNW, FOU,
() HPX @)
(3 HPT 4
15, BsEaD,F’ I s}{y'!s *
() Ml : 2)
¢) LN % 4
16. mnonopqopqrs
(1) ~ mnopgr @
()  parstu s
17. 275,7Y7,14X09, 23W11,34Y13,
(1 47U14 2)
{3) 45U15 4

47015

. Direction clue:- (18-23).Find the missing term in
place of Question Mark.

11. 3,6,15,48,

1 192 @
(3) 194 4
12. 445,221,109, 25
(1 4l 2
3 33 S

193
195

46
58

fseemyEs (13-17) Waes! wWyet € 8t § yor aas se

feasusdi
13 , ,babbba,
(1)  ababb @
(3)  baaab (4)
14. Bmi, DNW, FOU,
(1) - HPX @
(3) HPT 4
" 15. B,E,D,E, JHLJ, A
(H MI @
3  LN. @
}6'.- mnonopgopqgrs
(1) mnopgr 2
(3)  pastu @
17. 275,7Y7,14X9, 23W11,34Y13,
() 47014 2)
3) 45U15 @

faaew yus (18-23) yEs fog © & 3 faost ffew/ wee

J<ari

babbb
bbaba

HPS
GPS

27024
47015




" 20.

S Do s By e L A TR SR

20.
45
f?
- 29
15
17 | 21
'(1_) 16 @ 14
@) 10 @ 8
21, '
131121} 5
17115 | 8
25124 | ?
29121120
Iy 6 & 2
3 & 4 9
14
2
23. 12Z, K4X, I7V._2__HI6R, M2P
(y 1T () LuT
(3)  L12S (4 LI2T

Direction (24-27) No./words on the left hand side
of sign:: have some relationship developing same
relationship on the right hand side of sign::
answer the Questions.

2 14|
b 29
A7 | 21
-(1) 16 2 14
3) 10 @4 8
21. -
131 1215
17115 .8
25|24 | 2
2921 [20|
(n 6 2 7
3 8 4 9
2.
M 13 @ 14
G 27 @ 2
23. 7, K4X, TIV, 7 HI6R, M22P
(1) IUT (). LUT
@) LIS - '@ LT

e (24-27) FE3 T2 fors - SRR it
fea AT 3 OR A RET & Fros - @ R ik e
s efel - :

24 BC:PI::DE: ?
() FG @ RU
3) PY @ SK
25.ks :36L .. gp 1 7
121
m 39 ® 1
10 19
6 @ 6
169 69

24 BC:

(1)
3)

25. KS :

)

G)

DI ::

FG-

ry
361

39

40

289

169

DE : ?

== :: GD :
121

@
@

2)

(4)

RU
SK



26. 76835 : 54613 :: 94328 - 7
() 52635 @)
(3) 81605 4

72106
62117

27. Commander : Navy :: Brigadier : ?
(1)  Captain (2)  Commander -
(3)  Air-Force (4) - Amy

Direction : in guestions (28-31) six children P, Q, R, S, T,
U are playing football. P and T are brothers, U is the sister
of T,R is the only son of P's uncle , Q and S are the
daughters of the only brother of R's father.
{28) HowisRrelatedtoT?

{1}  Brother {2}  Cousin

{3y Uncle (41 Son

{29) How manymale;thyersafethem?
{1} One {2) Two
(3) Three {4) Five

{30 ) How many female players are there ?
(1) Four (2)  Three
3y Two (4) One

(31) HowisQrelatedto P ?
(1}  Sister 2)
{3) Neice 4

Uncle
Cousin

{32) 1If "Red” is called "Green"; "Green"” is called

“Yellow"; "Yellow" is called " Violet"; "Violet" is
called "Blue"; “"Blue" is called "Orange"; Then

what is the colour of Vegetable Lady finger
(1} Green (2) Blue
{3) Yeliow (4) Violet

Directions -Questions {33-40) study the columns and
answer. In column I some words are given and their codes
are given in colomn I1. The codes in the column II are not
in the same order as the letter of words in column I

{33) Find the codeof T Columnl Columnl
iy p ) ¢ FLOUR XRCap
3y x 4y a TAP ksd

ROSE cmm

(34) Find the code for "P" LOTUS SITCPX
(Iy d {2y k SAIL kptm
(3} 5 {4} c

{35) Code of 'Last’ word -

(1) pkas @) men
(3y pkms (4) pkds

{36) Whatis Code of '"PLASTER' word
{1y dpkxcm (2)  dpkmsm
{3) apxkmd {4)  mmxpak

26. 76835 ; 54613 ;- 94328 : ?

(1) 52635 (2) 72106
(3) 81605 (€3] 62117

27. aWtEe - ABhET o feadistug : 7
1 wws 2y isT
3y T=ERET 4 5 RET

faoem- yws (28-31 f&'s # 99 PQRSTV 3295 7
FT5, P 3 Taords, U, Tdtde 31 RPE sw e
feagzryze &1 Q »2 §,R © feas3 3o oht diwt
I51

(28) RTUSEHRRETT?

(1} g9 (2) TEFTII
(3 == 47 y=@
(29} g5 fad yag fazdtoa ?
(1 fe= 2) ©
(3 f= 4 =
(30) ¥ fad fenstfumdtas ?
(1) 9 2 f3=
3 € 4y fea
(31) QT PaFEdHRITI?
(1 8= 2y v
(3 A {4 wEdtdE
(32) a9 T @ E T A A W W
e, g g fagr a2 , Faet § Biow
faora , 318’ 3 F=at faor = I nws fest e
o fag for e ?
{1y aF . {2 BB
(3) uimr {4y  Fa=d

foeen —yus (33-H0 R gos fors s Wg »3 €9
fef | aoy | fess maer @ Iz Tav il fee e a8 o5
Fav il FEonys’ a7 aay | © 5eST € Wyd wighT
e st Isias s G3vfel

(33) Fodgdid Columnt * ™ Column f

m p @B ¢ FLOUR XICap
3 x 4 a TAP . ksd
ROSE cmm
34 PeaEFdT LOTUS SmEpx
m d @ k SAL kptm
8 s 4 c ;
(35) =uE lastd fae gz R fawd !
(1} pkns @  menx
(3)  pkms @ pikos
(36) BET PLASTER' fa< @ feg fowidr |
(1)  dplcm ) dpkmsm
{3) apxkmd- {4  mmpak



b‘lﬁ How many 3's are there in the given number
sequence each of which are immediately preseded
by 3 or 4 but are not immediately followed by 8 or

e
35954553584567357554523510
Iy 5 2 4

3 3 @ 2

(38) How many M's occur in the following leiter series
which are preceded by "W’ and followed by 'v’
XUVMRSTMWNVMWOPMUVMWA
CWMYHPNYMWMT

1 3 2y 1

3 2 4 2

(39 Find the word which cannot he formed from the
Tetters of the word 'INFRASTRUCTURE.

{1} RESTRAIN (2) FRACTURE
(3) CHARTER (4) NATURE
{4} Find the word which can be formed from the letters
" of the word TENVIRONMENT".
(1) ENVY (2) ENTERTAIN
(3) ENTRANCE {4}  EMINENT

Direction -Read the information carefully and answer the
guestions (41 fo 44) -P,T,V,RM,D,K and W are sitting
around a round table. V is second fo left of T, T is fourth
to Right of M, D and P are not immediate neighbours of
T. D is the third to the right of P. W is not an immediate
neighbour of P. P is to the immediate left of K..

(41) Who is second to left of K
1y R 2 P
3 M 4 W

(42) Who is to the immediate leftof ¥
() T 2) M
3 D 4 W

(43) Who is third to right of V
(L P 2 R
(@) K @ T

44) W%atm?'sp{mtmnwﬁhmspectwv
(1) Founthtothe left
(2} Secondtothe left
(3) Fafthto the nght
{4}y Third to the right

\3;; o fedtuz dtsst fEung sufm @ a2
- mfegdfanifeeya ‘s’ T asgeufostwa 3 a1 4
wEer JR gz W 5’ I feaen e MI 8 AT 9

e 3T |

3595455358456 7357554523510
{) 5 @ 4
@ 3 8 2

(38) oot wiys ot feg M uf fad mast 3 3
fam fog wiyg 'MW T Sig ufost "W wd slg 9o
f&g v wiger 31
XUVMRSTMWNVUMWOPHMUVMWACWMEVH
PHVMWMT
h 3 @ 1
(3) 2 4 3

(39) fg'3 o muet f29 €0 mue §€ # mge 'INFRA-
STRUCTURE' T &aT g femr 5T Raer |
{1}  RESTRAIN {2y  FRACTURE
{3) CHARTER {4  NATURE

(40) &3 o gwet fe ¥ €7 wge ¥3 # mue

'ENVIRONMENT ' ¥ savie & RaeT
{1y ENVY . {2)  ENTERTAIN
(3)  ENTRANCE (4)  EMINENT

feew-e ot weadt § o By w3 B3 o
yEst (41-44)2 €39 fe€1 PT,V,R, M, D.K%3 Wiz
Faows 8B IV, TesTuRgdms 31T , M2
AR URIERT5 331 DI P, T © fusas 33 ol
59T 351D, P ERA A AT S 3T W, P e iusas
3amr el 5aT 31 P, K ¥ fasas ¥8 yi A 3 ufast
31

(41) K ¥R yRgAmgs Id= L

() R @ P

3 M W W
(42) V @ gFTuRURF=TY

Mm T @ M

3 D 4 W
(43) V& ARryRdigesIdcsdsr 1

h P @ R

3 K @ T
(44) V € ASu iSO PT RS EH |

(1) YHYH S5
(2) YEUHEH
(3 WA YH IS
(4) WAUAIWF



b e

LNTECTION @ QYUesuons (45>-46) bour postons of ihe same
dice have been shown . Select the alternative whichk

provides correct answer to the question asked.

feedn- yus (45-46)fEq 85 fordevamps e aw
5187 gaei/la feasy ISR YR W yms o G
Erd

5 ] 3 5
4 6 . 6 2
3 4 2 1
I i Hi v
{45} Which number would be Oppesite to 3
{1y 6 ) 3
3 1 @ 4
{46) Which number would be opposite to 5
(1 6 2y 4
3 3 4 2z

{47} In a row of twenty five children Gagan is the 14th
from the right end. Varun is third to the left of
Gagan. What is Varun's position from the left end

of the row.
(1}  Seventh {2y Tenth
(3) Eighth {4)  Nineth

(48) A person is to climb a free of 50 feet height. In every
second he climbs 5 feet but slips down 4 feet. After how
many seconds he will be able to touch the top of tree?
(H 5 @ 46
@ 4 @ 4

(49)  Anju walks 15 metres toward north, then she turns left
at 90° and walks 30 mefres, then turns right at 90° and
walks 25 metres . How far is she from the starting point
and is in which direction
(1)  50metres, noriivwest
(2) 50 metres, west
(3  55meres, north-east
4  60mete, noth

(50} Karan wants to go to college which is situated in a
direction oppostie to that of a Mall He starts from his
house which is in the east and comes at a four way
place (Churaha) . His left side road goes to the Mall and
straight in front is the Bus Stand. in what direction is

the college located 7
(1)  North-East )  South
(3) East {4)  North

5 1 3 5

3 4 2 1

I It i v

(45) 32 EszunR fauzr e FFar

w

) 8 @
@ 1 @

$

(a6} a5 ¢ Gz fauzr g F2ar

e

H 6 2
@ 3 4

o

25 gfon €1 939 €9 9918 T A VR 3 1487
RES 71296, TGS T HE UH S BEE 2 183w
YRR I s fdses mas 32

(1) R"3=TF (2 TSI

(3) MWe=3F 4y BT

{47)

fe'a fovast & 50 3¢ €9 wouz 3 w3 T e
feg gz e fomaat seewogeriwase
57 wag wier 41 {43 Rfds awiw §u fonagdt vawe

{48)

emwdgussar?
() 50 {2y 46
I - 4 48

(49) g EsferTw 15 flesvaetal fewfuor e
T3 ¥¥ UH HE 30 Mizg geet 31 fez €w 900
TdT T AAYUH B HI FE TS 25 view
goel J1ge QuwuE wnfeg e T et edt 3 ¢
3 fouzl few feS o
(1) 50 Hies §3-van
(2) SoMiETUBH
(3) 55¥icg €3-uwaw
4) 60)tT ST

; e 2
(50) IS FBH AT 9P T | ¥ ws of @ue four
feenfeg 3 1Go B ww T eBT T A YeaeEs T
%3 Y94 IYTETT T ISR R WA TBT RS 0
T8 ATl § WS wone il T8 vH §W e J1

aeH fanfer g sfaz I
1y gy 2y Ty
(3) usg 49 €=

= =



Direction : In
questions (51-54 ) the
foliowing diagrams
circle stands for 1
Insurance agents,
the sguare stands
for hard working , the
triangles stands for
rural people and
rectangle stands for
graduates. Based
~ uponthese diagrams

answer the

guestions.

(51) Non-rural and hard working Insurance agents who
are graduates are indicated by the region
(n 9 2y 3
3 10 @ 7

(52) Insurance agents who are neither graduates nor
hard working but rural are represented by the

region.
{1y 12 (2)y 11
(3) 10 : 4 8

(33) Bard working non-graduates rural agents are

represented by the region _
ity 6 2y 9
3) 7 4 12

(54) Non-graduates insurance agents who are not hard
working and who do not beleng to rural areas are

represented by the region
1y 6 2) 5
3 8 @ 11

Direction : In guestion { 55-57) which of the following
diagrams correctly represents the relation between given

three items Nt
(o)
1) 2

00
sl

(3) 4
(55} Universe, Earth, Earope

(56} Deoor , Window, House
(57} Radio, T.V., Cinema Halil

fssew -yms
(51-54 ) &3
gHr Bde 3
Towger dI
zgar st
Eat S wwger
I fsa= g
gar § w3
wfeg aRgee
WA TG
d1 feget ©
W 3 YESTE
gza feln

(51) fagzr 43 do-Ug w3 mstgiwede R fa

FYeeH U5, 3 TeWEET T |
n s @ 5
B 10 @ 7
(52) feosrdsedw e Ao I MPee T3 & I
st s W U 95, Fuam@er 3 1
M 12 @ 1
@ 1w W 8

(53) faoardas fmsdt iy Sien & adgee aar
5, TaRged |
h 6 @ 9
@ 7 4 12

(54) faazr 4za ¥h &ier 7 FWgee 54f 95, 5° 9t hwast
& w3 & It UF 437 575 FEU3 75 § wewler
1
(1 6 2)

@ 8 @ 1

fsaew (y@s 55-57) fee it T3 o foge o5 fauer
fo 37 yus &9 ot ot 35 amst o wot Ao
serger d1

(o)o

2

OOO

(3

(55) gfois, west, gay

{56) e, fyzat, um
(57) G, =, Wawaozw



Direction (59-60) A solid cube of each side 8 cms,
has been painted Red, Blue and Black on pairs of
opposite faces. It is than cut into cubical blocks of
each side 2 cms.

58. Hawmﬁycubuhmeﬁm faces painted red and

black and all other faces unpainted?
o 4 e
B 16 @ 32
59. How many cubes have only one face painted red
and all other faces unpainted?
(n 4 @ 8
3) 12 @ 16

60. Howmany cubes have two i?acespamwdbiask"
1y 2 2 4
3 8 (4 None

Direction (61-62) Questions ‘Triangle stands for
Land owned by R, square stands for the Land
owned by T, Rectangle stands for the area where
vegetables are grown and circle stands for the area
where Fruits are grown.

61. Which Number represents the area that belongs to
both R & T where vegetables & fruits both are

grown?
mn 3 @ 35
(3 6 @ 12

fsgeTyEs (53-60) W Er Tea WA 8 it 3, s ar s ar
35 §ar 575 sfopat foper, g, SR I B o5 1T S m®
g UR I s, rone T fen @2 it S ue erawer
gFaeawl

s3. fRErwerIe Ui I ITw sarat afew §

IGuste Tt wTeR I TR SaraT 7
| A T @ . 8
3) 16 @ 32

s9. fad gruerIFTuR A s Taay oI 3 Eust

Swatuhodt I aA AR T
{1) 4 (23 8
(3} 12 4 16"

60. AR ez uz osfmuate S Ui S T 8T 4ard?
n 2 2 4
3) 8 4 g &aT

foreE s (61-62) fIie T YT WBE R, TR TE T
WEa T Jiwfegas iz fe madht W3 go0 @8 439
fegesGurdaieos)

61. RIT5S faue o RaTsyery Ay &8 3 Regin 88

GareRiTIa?
ity 3 . ¢ 5
3) 6 @ 12



63.

63.

{3}  Colourfullers 4

Which Number represents the area which belongs

to R alone and where both vegetables & fruits are

grown?
(2 ; @ 3
Gy 4 @ 5

62. faum e @ B3 § sorGer 3 faver oz Pad R
sB ifua i fites I medbnes Qare waus?

® 2 @ "3

) BT @ s

Direction (63-65) Questions which of the 63. f538% ums (63-65) Jorfe s o fizet foF faumr
g yns feg o3 af fis meet or ndt miw oaw@er
1)

following diagrams correctly represents the
relation between given three words.

€y B
T 6
O ¥4
»13) 4
BED, WARD, HOSPITAL

SEED, LEAF,ROOT
SEA, MOUNTAIN, ISLAND

Which one word can be formed from the fuﬂm
Letters.

aabcecillinooort
(1)  Cofllapsible (2} Locomotive

collaboration

6)) ; (2)
O
3) @

63. §8, 9T, U
64. 91, Vg, §g
65. RHEd, W, Ty

66. Tt fE°3 vERdt & et T fagar g oo seforsr

A g?

aaboeillnooort

(1) Collapsible @ { ocnmotive
(3) Colour fullers (4)  collaboration



67.

70.

i ©

72.

Arrange words as they occur in dictionary.

(1) Pestle (2) Pestilence
(3) Pester (4) Pest
(5) Pessimist '
(1) 43,152 @ 34251

3) 54,321 @ 451,23

Number of letters shppedbﬁtwem adjacent letters

in the series is in order of 1°, 2°, 3’, which of the

following series observe the rule given above.

() RIWZ
(3) CEIT

(2 EGLO
(4) EGLP

Arrange the letters so meaningful word form?
R & A 0 H.2 B

1 2 3 4 -5 .6
(1) 124365 (2) 634152
(3) 521436 4t

If you write down all the numbers from 1 to 100

than how many times do you write 37
@ 18 @ 19
B3 20 @ 2

A Total No. of 324 coins of 20 paise and 25 paise
makes asumof Rs. 71. The No. of 25 paise coin is?
(h 120 (2) 124

3y 132 (4) 200

Acexminno.ofhm&smneﬁo.ofmmmgomg
somewhere. Half of owners on their horses Back
their horses. If the No. of legs walking on the
ground is 70, how many horses are there?

(1 10 o B
@) 14 @ 16

67.

68.

69.

Jor fe 3 vimget saet & foanadt € ST MEHg €A/

(1) Pestle (2) Pestilence
(3) Pester 4  Pest

(5)  Pessimist

(1) 43,1,52 @ 34251
(3) 54321 @ 45123

HEH SEENBTE N EB B e 17,2, ¥ AT TS

T fommgre Rdl st Eniwe eR?
() RIWZ ) EGLO
3) CHET (4 EGLP
et fednir 3 et wama e s
R & A O U H
i ey 3 4 5 6
(1) 124365 (2 634152
(3 521436 @ 1ys26
; o

70.

71.

" 72,

%

A gar 1 F 1o 3afosTi fow izt fad =9 3

& fawan
4y 18 @ 19
G) . W @ 2

as3ufiaaf@o I s HeTsSasaar 71

guessStyOnfewsinefag faos?
4] 120 {2} 124
3) 132 @ 200

13 = 5 898 Moot a3 o 951 8ot § T
WBE »ue Wisni 3 88 76 3 al »ue Ui § 39
a fewrad oo17e s 3 et et srgm 70 8%
FBUI IS IT0 s lifpr Aot ene

o » @ »
3) 14 @ 16




.13 . Select from the four alfernatives, the box that can
be formed by folding the sheet as shown in figure.

1 BB
{ {8}

G o)}

B

C 2]
(1y Bonly (2) Aonly
3y AandConly 4y A,B,CandD

74  Find the Mirror Image of figure.

PLEDGE
?

Pr3DCE bl3DCE
m @

bI'EDCE brIace
@ @

Direction - In questions (75-77) find the correct alternative

from the Answer figares to complete the guestion figures
75 Question Figure
?
Answer Figures

76

)

73 &3 o v feawyt foF 3= a3 far wawe €51
- e efdedicddsldaass Tome sy Ee

R 1 £
DD

aleE
LY {8} i

-]

< o

FTA
ABC™M3D

(17 I8 {2}
(3) d<BAMIC {4)

74 i oo Sye 3 fog9 fad faor a9 wear ?

PLEDGE
3 :
PIr3DCE bI'3DCE
4] 2
bIEDCE br3aeE
{3) {9
faeem-yms (75-77) o3 o vw @29 &9 5ot feasy
Sz adfas s Reeyednd |
75 uns f§39
?
E3afezq
1 L2 3 3
76
_ .




Direction - In questions (78-80), The question figure is
embeded in one of the Answer figure. Find the alternative

in which it is embeded.
78 Question Figure
Answer Figures
f £ T
7|
| 2 3 4
” Question Figure
Answer Figures

Direction - (Question 81 - 83) Paper is folded as shown with
the dotted lines in "X’ & "Y" and the last figure 'Z' has been

Answer Figures
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YOS

cut. How would the paper look Iike when unfolded.
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Answer Flgures

fsaen-yEs (78-80) f2% s fase, € oo fes
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Direcion Flgares A 2B are rlaed asome wag.
According to same relationship ameong C and D figures
choose the consent alternative ( 83-88) '

23 Question Figure 8

e S Z-
Answer Figures '
Yo ¥ ogo‘? o Y| [%o 7
Q Q < 0
B 9in o9 h B9in 4
1 2 3 &

..................

I A
qu 000
» Bgin 04

3 4

Direction - In questions (84-86), which figure among  f53e5-ygs (84-86) feg 5t & yor 99 BEt yus g
Alteruatives will replace the question mark according to series. ﬁ_wwmﬁmﬁﬁzﬁi

84 Question Figure 84
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Direction ~Among five figures four figures are similar
in a certiria way. Find the different figure (89-90)

" A OO

D @ 0 ® 0

SFAFIEIF:

(1 @ .6 @ . 6}

Direction- In question(91-93) question figure is
embedded in one of the answer figures. Find the
correct one in which itis embedded.

A ORI A

®® @ 6 @ 06

JFAFE -

4 2 6@ 6 .0

foedw -yms ( 91-93) o yes fo'ss , Gea feaet feg far
Fafeasforiford ifrfdefasforifordtrat
Swad. : _ _

91 91
X1 OOI®(@®| (X OO0 D ®
(D 2) 3 | 4 (1 v (3) (4)
92 92 .
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; (1) (2) (3} {4 . e {2 3) 4)
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' 93
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Direction- In question (94) square /circular paper has
been folded asshown withthe dotted linesin the given
figures. The last figure (2) shows how the paper has

been cut. How would the paper look like when
unfolded. Question Figure
= — £
G4 i AT R
i X 1 A
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X Y z
Answer Figure
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Directions Q (95-96) In each of the following questions
there is a relationship between two figures on the left
side of the sine :: , the same relationship exists
between the two , to the right side of sign :: , Find the
correct alternative.

B[Ry - =iEs
MESE

%) ‘.Ei} @ @

95 Question figure

96 Question figure

g dda |
¢ 0

lf.tkemirrorimgge'ofﬁae above figure is rotated to

90" in clockwise direction , It will look like :
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faven: yus (95-96) 35 fed st RY fows -edqume
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98.  Find the water image of given figure %. ﬁ%aﬁrﬁ?‘awmféaqaﬁwﬁl

?

99.  Find the water image of given figure 9%9. fIRFTTrRETERTET
Workno.thard  Workno.thard :
(1) HOUUO'TPILG  (2) MOLKUO'TPILG (1) MOLKUOIPSLG (2) MOLKUO [PIL]
(3) MOMNOTUPIG (4) MOLEEOIIPILY | () MOUNORIG (4) MOLKBO:[PILY

100. Given below are three different positions of ~ j100. 38* ety (3@1 ) w s Syt Tt
dice. Find the number of dots on the face fo opposite.  wewmret ffint St as Iﬁg’féa‘{:#)m%nmééﬁ _

the face bearing (3) threedots ? ' ﬁi‘ﬁ?»mrfaaaﬁi‘w'?

@)
(1 ® 5 M 1 ® S
fC)) ; (d)  Nome ©c 6 (@  None



